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Time: 3 hrs. Max' Marks: 80

Note: Answer a:ny FIIsE full questions. 
,ri, 

,,

I a. With a neat sketch, describe the stfii* th5l takes place to execueL'&,tfi-instruction. (08 Marks)

b. Explain briefly pipelining an{paf# scalar operation of.ffiprocessor with a suitable

examples. ,_ (04Marks)

c. What is performance measrre.mffit? Explain overall SP{C iating for computer. (04 Marks)
:::::: i,:i ..111}s',.

2 a. What is instruction? Effi&basic instruction types wi,ih suitable examples. (05 Marks)

b. Explain the following aH8'fessing modes with examples:
(i) Register *o0"" i"":,,,, iii) Absolute mode ," (ili) Immediate mode (06 Marks)

c. Write short notei Sl ehcoding machine instr{Iptibn. (05 Marks)

3 a. What is in6,#-upt? Explain the implementatioh of intemrpt priority using individual intemrpt

request and acknowledge lines. (06 N'larks)

b. What,& you mean by vectored interypts? Explain. ,,.o-t,, (03 Marks)

c. Wha.*s',,,'bus arbitration? What,a?q'its types? Explain',ff'e simple alrangement for bus
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arbitration using daisy chain,

1scs34

(07 Marks)

(10 Marks)
(06 Marks)

Explain sequence of eveiits!'itluring read operatioritiof synchronous:hi'li 'data transfer with
respect to timing diagram. (051\larks)

Describe with a neat sketCh printer to processor*tbnnection. (05 Marks)

Write a short note'bn USB structure and opeffiion. (06 Marks)

Explain organi2ation of 2m x 8 dynaffimemory chip' ,::r:i (08 Marks)

Explain syncfuoious DRAM wilh a rieat sketch. ,:.,',,,,,,,,. (08 Marks)

,,,. ...".'o'i1,,,,,,,, -,,
Explain''S3'S<iciative mapping"rfl!trh a necessary diagaitft (05 Marks)

DescriS$the organization qf'V,idtial memory. (05 Marks)

write short notes on hard.lil"i!*,,drive. 06 Marks)

a. 'Dt'aw a4bit carry lociffiead adder and eip-l1in. (06 Marks)

b;'i'Perform the multiplication of +13 and -6,using Booth's algorithm. (06 Marks)

c. Describe Z Uit U1 2 f it array multiptie,f.* 04 Marks)

a. Explain IEEBStandard format of floating point number. (06 Marks)

b. Explain the c'dhcept of sequential multiplication using register configuration with a suitable

example. ,,,,,,,,,, ' (08 Marks)

c. What are two limitations of,Carry Save Addition (CSA)? (02 Marks)

9 a. With a figure explain single bus organization of data path inside a processor. (08 Marks)

b. With a suitable di+gram, explain input and output gating for the registers. (06 Marks)

c. List out the 4 ap'tions are needed to execute Add (R3), Rr instruction. (02 Marks)

10 a. Describe the,basic organaation of micro-progxammed control unit with aneat sketch and

example"".-',.
b. Writepshort note on Digital Camera.
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